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Gray ANN (22 MZEY 78 Gray Scale 0|0|X|Z A+, Fully-Connected Layer2 2t 714
ANN HEQ|3 7%

Gray CNN Mz AZAY 73) Gray Scale O|0|X| S AL, CNN PEZ AFSHE HEYA
T (LeNet-58 Y5 HEH HE)

AHE% HAY 72) Gray Scale 0|0|X| S A, CNN TEE AF88H= HEYS
S| Epoch: 29, Step: 401, Loss: 0,0346585
-TF LW tH )\f Train Accuracy. 0.97
Yalidation Accuracy: 0,95
begin: 2020-05-28_07-39-34

end: 2020-05-28_05-02-33
Run the command |ine:

—> tensorhoard —logdir=./logs —port=6008&
Then open http://0.0.0.0:B006/ into your web browser




Fron watplot b inport pyplot as plt AlZ4d0F St
tatplot | ib inling CNN I_I o O _II- =

nun_classes = cfg, HUH_KEYS

s train_inages = np.arrav(y_train_inages)

print(x_train_inages. shane)

s_train_inages, reshapelx_train_inages.shapel0], cfe. final_heicht, cfg. final width, 1)
print(x_train_inages. shane)

plt, Inshowds_train_inages[0])

plt . chon()

w_validat fon_inages = np.arraytx_validation_inages)

s_validat fon_inages, reshape(_val idat ion_inages, shape(0], cfa.final_heiont, cfa.final width, 1)
print (x_validation_inages, shape)

nlt, inshoulx_val idation_inages(0])

plt, shont )

¥_test_inaes = np.array{x_test_inages)

w_test_inages, reshapelx_test_inages, shapell], cfa. final_heieht, cfo.final_width, 1)
print(x_test_inages. sape)

plt, Inshol_test_inases(0])

plt,showt)

y_train_labels = keras,utils.to_categorical(v_train_labels, nun_classes)
vvalidation_labels = keras,utils, to_categorical (v_validation_labels, nun_classes)
y_test_labels = keras.utils.to_categorical (v_test_labels, nun_classes)

2020 — 1 Capstone
Design

el =smtil) CNN M3 L5
node add(ConvZD(2, Kerel size=(5, B, stridese(1, 1), paddinge'sane’,
act vat fon="rel0,
Input_shape=input _sape))

node! add{ ool inglD )
nodel ad(Conv2D(B4, (2, 2), activation="relu’, padding='se’))

g,

il

Motk 3 ())

10l 3 ense(lUUU activat on="rely )
nocel s Dropct (0.5)

g,

i

nodel sumaryl)
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if start flag: Cl -I|—-| ||:| Ol HISE -”O-I
if cfg.wheel == cfg.STOP: <— |=|E' o / '—l-— o o 2\
hw.motor_one speed(cfg.normal_speed right==0)
hw.motor two_speed(cfg.normal speed left==0)
elif cfg.wheel == cfg.LEFT:
hw. motor_one_speed(cfg maxturn_speed)

hw.motor two_ d(cfg.minturn speed) —_
e F|ag§ ARSI At 2

:ifyslov‘l_flag True d El'E I_II-% 6"5% ?-_0:-_

hw.motor one speed(int(cfg.normal speed right/2))
hw.motor two speed(int(cfg.normal speed left/2))
else:
hw.motor one speed(cfg.normal speed right)
hw. motor two speed(cfg.normal speed left)
elif cfg.wheel == cfg.RIGHT: ‘
hw.motor_one speed(cfg.minturn speed)
hw. motor_two_speed(cfg maxturn_speed)
elif cfg.wheel == cfg.UP LEFT:
hw.motor one speed(cfg.normal speed right)
hw.motor “two _speed(round(cfg.normal speed left/cfg.slow turn factor))
elif cfg.wheel == cfg.UP RIGHT:
hw.motor one speed(round(cfg. normal_speed_rlght/cfg.slow_turn_factor))

pw.motor_two_speed(cfg.normal_speed_left)<1-_____________________________——____
2 E HOo 2to|=2 g

assert False

else:
hw.motor one speed(0)
hw.motor two speed(0)
cfg.wheel = cfg.STOP
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